Fundamental Trig Identities

Reciprocal identities

. 1 1
sinf = p—z cos 0 -~ tanf = 0
1 1 1
o8¢ sin 6 see cos 0 tan 6
Quotient identities
sin 6 cosf
tanf = t0 =
an g ° sin 0

Pythagorean Identities
sin® 6 + cos?0 =1, 1+ tan? 0 = sec? 6, 1+cot?0 =csc? 0

Cofunction identities
. (T T ) ™
sin (579> = cosf cos (579) =sinf tan (570) =cotf
csc (g—ﬁ) =sect sec (g—ﬁ) =cscl cot (g—ﬁ) = tan6
Even/Odd identities
sin(—6) = — sin(h) cos (—0) = cos(6) tan (—60) = — tan (6)

csc (—0) = —csc (0) sec (—6) = sec (0) cot (—0) = —cot (9)



